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/01020 34545 6 789 69:; <=
X = 5, 7, 10, 14, 16
p = 7, 35, 41, a, 9
M(X) = 10.4252

/01020 345> 5 6; <?89 @ ABC8D
X = 3, 7, 11, 14, 16
p = 8, a, 51, 40, 6
M(X) = 10.5385

/01020 3453 5 E FG HABIJA 699A
X = 4, 7, 9, 13, 17
p = 8, 37, 46, a, 7
M(X) = 9.7626

/01020 345K 5 ELBIJA M JH<98N
X = 5, 8, 9, 12, 17
p = 10, a, 40, 31, 12
M(X) = 9.9055

/01020 345O 5 P8BQI; IJ 6G <BCA9:;
X = 5, 7, 10, 12, 15
p = a, 32, 41, 38, 2
M(X) = 9.4400

/01020 345R 5 P IG S9IJ T 8; 8GG
X = 4, 6, 10, 14, 17
p = a, 38, 50, 37, 7
M(X) = 9.8125

/01020 345U5 V; <WBI X A988G
X = 4, 6, 10, 13, 17
p = 3, a, 42, 38, 13
M(X) = 10.3258

/01020 345Y 5 M;D ABIJ X A98GA
X = 3, 7, 9, 13, 17
p = a, 39, 48, 39, 9
M(X) = 9.7133

/01020 345Z 5 [A\A; <9BIJ ] JA9
X = 3, 7, 9, 12, 16
p = 8, 40, 42, a, 13
M(X) = 9.5108

/01020 3454^ 5 @ AGAH89 X A988G
X = 3, 6, 9, 14, 16
p = 9, 36, 41, a, 6
M(X) = 9.6061

/01020 345445 @ A;QL9IJ 69QI9
X = 3, 7, 10, 14, 16
p = 4, 39, 41, a, 9
M(X) = 10.5188

/01020 3454> 5 @ A\D FQIJ P AG <9Q89
X = 4, 7, 10, 13, 16
p = 12, 34, a, 36, 6
M(X) = 9.7692

/01020 34543 5 @ <G <_BI ` AJ<G
X = 5, 8, 11, 13, 17
p = a, 39, 50, 34, 7
M(X) = 10.6838

/01020 3454K 5 @ I\AD <: 6G8
X = 4, 6, 10, 12, 17
p = 4, 31, a, 31, 9
M(X) = 9.8099



/01020 3454O 5 a8I9IJ ` AJ<G
X = 4, 7, 11, 13, 15
p = 2, 34, 49, a, 10
M(X) = 10.7941

/01020 3454R 5 aIBIG IJ T I9CQA9Q89
X = 5, 7, 10, 13, 15
p = 7, 33, 48, a, 7
M(X) = 10.1128

/01020 3454U5 b I\GIJ 6G <BCA9:;
X = 4, 7, 9, 13, 16
p = 9, 33, 40, a, 11
M(X) = 9.9008

/01020 3454Y 5 c IJ8BIJ aQA98CGAJ
X = 4, 8, 9, 13, 16
p = 8, 34, 46, a, 13
M(X) = 10.2357

/01020 3454Z 5 [A\A; IJ X A98G
X = 4, 8, 10, 14, 15
p = 5, 41, 49, a, 4
M(X) = 10.3582

/01020 345>^ 5
X = 3, 8, 10, 13, 17
p = 2, 40, 46, a, 8
M(X) = 10.5303


